

RESEARCH

Open Access



Seidel-Estrada index

Jalal Askari¹, Ali Iranmanesh^{1*} and Kinkar Ch Das²

*Correspondence:

iranmanesh@modares.ac.ir

¹Department of Mathematics,
Faculty of Mathematical Sciences,
Tarbiat Modares University, P.O. Box
14115-137, Tehran, Iran
Full list of author information is
available at the end of the article**Abstract**

Let G be a simple graph with n vertices and $(0, 1)$ -adjacency matrix A . As usual, $S(G) = J - 2A - I$ denotes the Seidel matrix of the graph G . Suppose $\theta_1, \theta_2, \dots, \theta_n$ and $\lambda_1, \lambda_2, \dots, \lambda_n$ are the eigenvalues of the adjacency matrix and the Seidel matrix of G , respectively. The Estrada index of the graph G is defined as $\sum_{i=1}^n e^{\theta_i}$. We define and investigate the Seidel-Estrada index, $SEE = SEE(G) = \sum_{i=1}^n e^{\lambda_i}$. In this paper the basic properties of the Seidel-Estrada index are investigated. Moreover, some lower and upper bounds for the Seidel-Estrada index in terms of the number of vertices are obtained. In addition, some relations between SEE and the Seidel energy $E_s(G)$ are presented.

MSC: 05C50; 05C90**Keywords:** eigenvalue; Seidel matrix; Seidel-Estrada index**1 Introduction**

Throughout this paper, let G be a simple graph with vertex set $V = \{v_1, v_2, \dots, v_n\}$. The adjacency matrix $A(G) = [a_{ij}]$ of G is a binary matrix of order n such that $a_{ij} = 1$ if the vertex v_i is adjacent to the vertex v_j , and 0 otherwise. The Seidel matrix $S(G) = [s_{ij}]$ is equal to $\mathbb{J}_n - 2A(G) - \mathbb{I}_n$, where the symbol \mathbb{J}_n denotes the square matrix of order n all of whose entries are equal to 1. Since $A(G)$ and $S(G)$ are real symmetric matrices, their eigenvalues must be real. The eigenvalues of G are referred to as the eigenvalues of $A(G)$, denoted by $\theta_1(A(G)), \theta_2(A(G)), \dots, \theta_n(A(G))$ and similarly, $\lambda_1(S(G)) \geq \lambda_2(S(G)) \geq \dots \geq \lambda_n(S(G))$, the Seidel eigenvalues of G . For simplicity, we write λ_i instead of $\lambda_i(S(G))$. The sequence of n Seidel eigenvalues is called the Seidel spectrum of G (for short $S\text{-spec}(G)$). We now present an example of pairs of graphs on n vertices with the same Seidel spectrum such that one of them is a connected graph and the other one is not.

Example 1 Here we address two examples from non-isomorphic graphs which are co-spectral:

- (i) $S\text{-spec}(K_{p,q}) = S\text{-spec}(\overline{K}_n)$ if $p + q = n$,
- (ii) $S\text{-spec}(K_{n/2} \cup K_{n/2}) = S\text{-spec}(K_n)$ (n is even).

In our recent studies on Seidel eigenvalues it has been shown that a lower and upper bound exists for the sum of powers of the absolute eigenvalues of the Seidel matrix, suggesting a common core architecture similar to the cases of adjacency and signless Laplacian matrix [1]. The reader can find more information related to the eigenvalues of the

adjacency matrix and the spectrum of G in [2]. The Estrada index of a graph G is defined as

$$EE(G) = \sum_{i=1}^n e^{\theta_i(A(G))}. \tag{1}$$

This graph-spectrum-based structural descriptor was first proposed by Estrada in 2000; see [3–5]. Already, de la Peña *et al.* [6] proposed to call it the Estrada index, a name that in the meantime has been commonly accepted. Several kinds of Estrada indices were discussed in [7–13] and the references therein. For the recent work of the mathematical properties on the Estrada and signless Laplacian Estrada indices, see [6, 14]. In this review, we summarize some indirect evidence to support the concept of a Seidel matrix. Similarly, we define the Seidel-Estrada index for the graph G in full analogy with equation (1) as

$$SEE(G) = \sum_{i=1}^n e^{\lambda_i}. \tag{2}$$

For details on the theory of the Estrada index and several lower and upper bounds, see [6, 11, 13, 15]. Ayyaswamy *et al.* [14] gave a lower bound for a signless Laplacian of the graph using the numbers of vertices and edges. A conference matrix is a square matrix C of order n with zero diagonal and ± 1 off the diagonal, such that $CC^T = (n - 1)I$. If C is symmetric, then C is the Seidel matrix of a graph and this graph is called a *conference graph*; see [1, 2]. The aim of this paper is to find the upper and lower bounds for the Seidel-Estrada index of the graph G . The rest of the paper is organized as follows: In Section 2, we give some definitions and obtain some upper and lower bounds for the Seidel-Estrada index. In Section 3, we present a relation between the Seidel-Estrada index and the Seidel energy of a graph G , and we prove several results on the Seidel-Estrada index.

2 Estimates of the Seidel-Estrada index

Here we give some new lower and upper bounds on Seidel-Estrada index. For convenience, we give some notation and properties which will be used in the following proofs of our results. Let $S_k = S_k(G) = \sum_{i=1}^n (\lambda_i)^k$, and $S^k(G) = \sum_{i=1}^n |\lambda_i|^k$. From the Taylor expansion of e^x , it is easy to see that the Seidel-Estrada index and $S_k(G)$ of G are related by

$$SEE(G) = \sum_{k=0}^{\infty} \frac{S_k(G)}{k!}. \tag{3}$$

It is easy to see that any graph G of order $n \geq 2$ has $SEE(G) > n$. (If equality holds, then $\lambda_1 = \lambda_2 = \dots = \lambda_n = 0$. By Lemma 2.1(ii), we can get a contradiction.)

Lemma 2.1 [1] *For any graph G with n vertices, we have*

- (i) $S_1(G) = \sum_{i=1}^n \lambda_i = \text{trace}(S(G)) = 0$,
- (ii) $S^2(G) = S_2(G) = \sum_{i=1}^n \lambda_i^2 = \text{trace}(S^2(G)) = (n - 1)^2 + (n - 1) = n(n - 1)$,

$$\begin{aligned}
 \text{(iii)} \quad S_3(G) &= \sum_{i=1}^n \lambda_i^3 \leq S^3(G) \leq (n-1)^3 + (n-1), \\
 \text{(iv)} \quad S^3(G) &= \sum_{i=1}^n |\lambda_i|^3 \geq n\sqrt{(n-1)^3}, \\
 \text{(v)} \quad S_k(G) &\leq S^k(G) = \sum_{i=1}^n |\lambda_i|^k \leq (n-1)^k + (n-1), \quad k = 3, 4, \dots, \\
 \text{(vi)} \quad S^k(G) &= \sum_{i=1}^n |\lambda_i|^k \geq n\sqrt{(n-1)^k}, \quad k = 3, 4, \dots
 \end{aligned}$$

Lemma 2.2 [16] *Let B be an $n \times n$ symmetric matrix with eigenvalues $\lambda_1 \geq \lambda_2 \geq \dots \geq \lambda_n$ and let B_k be its leading $k \times k$ submatrix of B . Then, for $i = 1, 2, \dots, k$,*

$$\lambda_{n-i+1}(B) \leq \lambda_{k-i+1}(B_k) \leq \lambda_{k-i+1}(B), \tag{4}$$

where $\lambda_i(B)$ is the i th greatest eigenvalue of B .

Lemma 2.3 *Let G be a graph of order $n \geq 2$. Then $\lambda_1 \geq 1$.*

Proof Since $n \geq 2$, therefore $\overline{K_2}$ or K_2 must be an induced subgraph of G . Since $\lambda_1(K_2) = \lambda_1(\overline{K_2}) = 1$, by Lemma 2.2, we get the required result. \square

Theorem 2.4 *Let G be a simple graph with $n \geq 2$ and $\det S(G) \neq 0$. Then the Seidel-Estrada index of G is bounded by*

$$\sqrt{n(3n-2)} < SEE(G) < n-1 + e^{\sqrt{n(n-1)}}. \tag{5}$$

Proof (a) To prove this theorem, we apply a technique similar to the proof of Theorem 1 in [6]. At first we prove that the left inequality of (5):

From (2), we get

$$SEE^2(G) = \sum_{i=1}^n e^{2\lambda_i} + 2 \sum_{i < j} e^{\lambda_i} e^{\lambda_j}. \tag{6}$$

In view by the inequality between the geometric and arithmetic mean, we get

$$\begin{aligned}
 2 \sum_{i < j} e^{\lambda_i} e^{\lambda_j} &\geq n(n-1) \left(\prod_{i < j} e^{\lambda_i} e^{\lambda_j} \right)^{\frac{2}{n(n-1)}} = n(n-1) \left[\left(\prod_{i=1}^n e^{\lambda_i} \right)^{n-1} \right]^{\frac{2}{n(n-1)}} \\
 &= n(n-1) (e^{S_1(G)})^{\frac{2}{n}} = n(n-1).
 \end{aligned} \tag{7}$$

By using the power series expansion, and Lemma 2.1, we get

$$\begin{aligned}
 \sum_{i=1}^n e^{2\lambda_i} &= \sum_{i=1}^n \sum_{k=0}^{\infty} \frac{(2\lambda_i)^k}{k!} = \sum_{i=1}^n \frac{(2\lambda_i)^0}{0!} + \sum_{i=1}^n \frac{(2\lambda_i)^1}{1!} + \sum_{i=1}^n \frac{(2\lambda_i)^2}{2!} + \sum_{i=1}^n \sum_{k \geq 3} \frac{(2\lambda_i)^k}{k!} \\
 &= S_0 + 2S_1 + 2S_2 + \sum_{i=1}^n \sum_{k \geq 3} \frac{(2\lambda_i)^k}{k!} = n + 0 + 2n(n-1) + \sum_{i=1}^n \sum_{k \geq 3} \frac{(2\lambda_i)^k}{k!}.
 \end{aligned}$$

Since $\sum_{k \geq 3} \frac{(2\lambda_i)^k}{k!} \geq 8 \sum_{k \geq 3} \frac{(\lambda_i)^k}{k!}$, we shall use a multiplier $\gamma \in [0, 8]$, so as to arrive at

$$\begin{aligned} \sum_{i=1}^n e^{2\lambda_i} &\geq n + 2n(n-1) + \gamma \sum_{i=1}^n \sum_{k \geq 3} \frac{(\lambda_i)^k}{k!} \\ &= n + 2n(n-1) - \gamma n - \frac{1}{2} \gamma n(n-1) + \gamma \sum_{i=1}^n \sum_{k \geq 0} \frac{(\lambda_i)^k}{k!} \\ &= n + 2n(n-1) - \gamma n - \frac{1}{2} \gamma n(n-1) + \gamma SEE(G). \end{aligned} \tag{8}$$

By substituting (7) and (8) back into (6) and solving for $SEE(G)$, we obtain

$$SEE(G) \geq \frac{\gamma}{2} + \sqrt{\frac{\gamma^2}{4} + n^2(3 - \gamma/2) - n(2 + \gamma/2)}. \tag{9}$$

Now, we consider a function

$$f(x) = \frac{x}{2} + \sqrt{\frac{x^2}{4} + n^2 \left(3 - \frac{x}{2}\right) - n \left(2 + \frac{x}{2}\right)}. \tag{10}$$

We have $f'(x) < 0$ for $x \geq 0$. Thus $f(x)$ is a monotonically decreasing function for $x > 0$. Consequently, the best lower bound for $SEE(G)$ is attained $\gamma = 0$. Setting $\gamma = 0$ in (9), we arrive at the first half of Theorem 2.4:

$$SEE(G) \geq \sqrt{n(3n - 2)}.$$

Now, we have to prove that the lower bound is strict. For this purpose, we assume that the left equality holds in (5). Then we have

$$e^{\lambda_i + \lambda_j} = e^{\lambda_k + \lambda_\ell}, \quad \text{for any } i, j, k, \ell \in \{1, 2, \dots, n\},$$

that is,

$$e^{\lambda_1 + \lambda_2} = e^{\lambda_1 + \lambda_3} = \dots = e^{\lambda_1 + \lambda_n} = e^{\lambda_2 + \lambda_3},$$

and hence

$$\lambda_1 = \lambda_2 = \dots = \lambda_n.$$

By Lemma 2.3 and the trace of $S(G)$, we can get a contradiction. Thus the left equality in (5) is strict.

(b) Let us prove now the right inequality.

Since $f(x) = e^x$ monotonically increases in the interval $(-\infty, \infty)$, we starting with equation (2), we get

$$\begin{aligned} SEE(G) &= n + \sum_{i=1}^n \sum_{k=1}^{\infty} \frac{(\lambda_i)^k}{k!} \leq n + \sum_{i=1}^n \sum_{k \geq 1} \frac{(|\lambda_i|)^k}{k!} \\ &= n + \sum_{k \geq 1} \sum_{i=1}^n \frac{[(\lambda_i)^2]^{\frac{k}{2}}}{k!} \end{aligned}$$

$$\begin{aligned} &\leq n + \sum_{k \geq 1} \frac{1}{k!} (S_2(G))^{\frac{k}{2}} = n + \sum_{k \geq 1} \frac{(\sqrt{n(n-1)})^k}{k!} \\ &= n - 1 + \sum_{k=0}^{\infty} \frac{(\sqrt{n(n-1)})^k}{k!} = n - 1 + e^{\sqrt{n(n-1)}}. \end{aligned} \tag{11}$$

Suppose that the right equality holds in (5). Then the equality holds in (11). Thus we have $\lambda_i = |\lambda_i|, i = 1, 2, \dots, n$. Since $\lambda_1 \geq 1$ and by Lemma 2.1(i), again we get a contradiction. Hence the right inequality in (5) is strict. \square

Theorem 2.5 *Let G be a conference graph. Then the Seidel-Estrada index of G is equal to*

$$SEE(G) = nch(\sqrt{n-1}), \tag{12}$$

where $ch(x)$ is the hyperbolic cosine of x defined as follows:

$$ch(x) = \frac{e^x + e^{-x}}{2}.$$

Proof Since G is a conference graph, the Seidel matrix of a graph is symmetric and $SS^T = (n-1)I$, thus each Seidel eigenvalue equals $\lambda_i = \sqrt{n-1}$ or $\lambda_i = -\sqrt{n-1}$. Let the number of positive eigenvalues of Seidel matrix $S(G)$ be n_+ . Hence, $\lambda_i = \pm\sqrt{n-1}$ and $S_1 = \sum_{i=1}^n \lambda_i = \sum_{i=1}^{n_+} \sqrt{n-1} + \sum_{i=n_++1}^n -\sqrt{n-1} = 0$, then $n_+ = \frac{n}{2}$. Therefore

$$\begin{aligned} SEE(G) &= \sum_{i=1}^n e^{\lambda_i} = \sum_{i=1}^{n_+} e^{\lambda_i} + \sum_{i=n_++1}^n e^{\lambda_i} = \sum_{i=1}^{n_+} e^{\sqrt{n-1}} + \sum_{i=n_++1}^n e^{-\sqrt{n-1}} \\ &= \sum_{i=1}^{n_+} (e^{\sqrt{n-1}} + e^{-\sqrt{n-1}}) = 2 \sum_{i=1}^{\frac{n}{2}} ch(\sqrt{n-1}) = nch(\sqrt{n-1}). \end{aligned} \tag{13}$$

3 Relation between Seidel-Estrada index and Seidel energy

Let G be a simple graph of order n , and its Seidel eigenvalues will be denoted by $\lambda_1 \geq \lambda_2 \geq \dots \geq \lambda_n$. The Seidel energy $E_s(G)$ of graph G is defined by $E_s(G) = E_s = \sum_{i=1}^n |\lambda_i|$ [1]. Since

$$\sum_{i=1}^n \lambda_i = 0,$$

we have

$$E_s(G) = 2 \sum_{i=1}^{n_+} \lambda_i = -2 \sum_{i=n_++1}^n \lambda_i. \tag{13}$$

In this section, we investigate the relation between the Seidel-Estrada index and the Seidel energy.

Theorem 3.1 *The Seidel-Estrada index $SEE(G)$ and the Seidel energy $E_s(G)$ satisfy the following inequality:*

$$\frac{e}{2} E_s(G) + (n - n_+) e^{-\frac{E_s(G)}{2(n-n_+)}} \leq SEE(G) \leq n - 1 + e^{E_s(G)} \tag{14}$$

with left equality holding if and only if $G \cong K_n$.

Proof (a) At first, we prove the left inequality of (14).

For $G \cong K_n$, $SEE(G) = (n - 1)e + e^{-n+1}$ and hence the left equality holds in (14). Otherwise, we have to prove that the lower bound is strict for $G \not\cong K_n$. We have $e^x \geq ex$ with equality holding if and only if $x = 1$. By the arithmetic-geometric mean inequality, we get

$$\sum_{i=n_++1}^n e^{\lambda_i} \geq (n - n_+) \left(\prod_{i=n_++1}^n e^{\lambda_i} \right)^{\frac{1}{n-n_+}} = (n - n_+) \left(e^{\sum_{i=n_++1}^n \lambda_i} \right)^{\frac{1}{n-n_+}} = (n - n_+) e^{-\frac{E_s(G)}{2(n-n_+)}}.$$

Using the above result, we have

$$\begin{aligned} SEE(G) &= \sum_{i=1}^n e^{\lambda_i} = \sum_{\lambda_i > 0} e^{\lambda_i} + \sum_{\lambda_i \leq 0} e^{\lambda_i} \\ &\geq \sum_{i=1}^{n_+} e^{\lambda_i} + (n - n_+) e^{-\frac{E_s(G)}{2(n-n_+)}} \\ &= \frac{e}{2} E_s(G) + (n - n_+) e^{-\frac{E_s(G)}{2(n-n_+)}}. \end{aligned}$$

Suppose that the left equality holds in (14) for $G \not\cong K_n$. Then we must have

$$\lambda_1 = \lambda_2 = \dots = \lambda_{n_+} = 1 \quad \text{and} \quad \lambda_{n_++1} = \lambda_{n_++2} = \dots = \lambda_n.$$

Since $G \not\cong K_n$, we see that $K_{1,2}$ is an induced subgraph G or $K_2 \cup K_2$ is an induced subgraph of G . We have $\lambda_1(G) \geq \lambda_1(K_{1,2}) = 2$ and $\lambda_1(G) \geq \lambda_1(K_2 \cup K_2) = 3$. In both cases, we get a contradiction.

(b) Upper bound:

Starting with equation (2), we get

$$\begin{aligned} SEE(G) &= n + \sum_{i=1}^n \sum_{k \geq 1} \frac{(\lambda_i)^k}{k!} \leq n + \sum_{i=1}^n \sum_{k \geq 1} \frac{|\lambda_i|^k}{k!} \\ &\leq n + \sum_{k \geq 1} \frac{1}{k!} \left(\sum_{i=1}^n |\lambda_i| \right)^k = n - 1 + \sum_{k=0}^{\infty} \frac{(E_s)^k}{k!} = n - 1 + e^{E_s(G)}. \end{aligned} \tag{15}$$

Suppose now that the right equality holds in (14). Then all the above inequalities must be equalities. From (15), we have $|\lambda_i| = \lambda_i$, for all i . By the trace of $S(G)$, we have $\lambda_1 = \lambda_2 = \dots = \lambda_n = 0$, a contradiction by Lemma 2.3. This completes the proof of the theorem. \square

Remark 3.2 From equation (15) and Lemma 2.1, we get

$$\begin{aligned} SEE(G) &\leq n + \sum_{i=1}^n \sum_{k \geq 1} \frac{|\lambda_i|^k}{k!} = n + E_s(G) + \sum_{i=1}^n \sum_{k \geq 2} \frac{|\lambda_i|^k}{k!} \\ &= n + E_s(G) + \sum_{i=1}^n \sum_{k \geq 2} \frac{[(\lambda_i)^2]^{\frac{k}{2}}}{k!} \leq n + E_s(G) + \sum_{k \geq 2} \frac{1}{k!} \left[\sum_{i=1}^n (\lambda_i)^2 \right]^{\frac{k}{2}} \\ &= n + E_s(G) - 1 - \sqrt{n(n-1)} + \sum_{k \geq 0} \frac{(\sqrt{n(n-1)})^k}{k!}. \end{aligned}$$

Hence

$$SEE(G) - E_s(G) \leq n - 1 - \sqrt{n(n-1)} + e^{\sqrt{n(n-1)}}. \tag{16}$$

Equality does not hold because if the equality is to occur, then we have $|\lambda_i| = \lambda_i$, for all i . Hence by Lemma 2.1(i), again we get a contradiction. We also have

$$SEE(G) - E_s(G) < \sqrt{n-1}(\sqrt{n-1} - \sqrt{n}) + e^{\sqrt{n(n-1)}}$$

and $SEE(G) < n - 1 + e^{E_s}$; we also give an inequality between the $SEE(G)$ and $E_s(G)$.

Theorem 3.3 *Let G be a simple graph with n vertices. Then*

$$e^{|\lambda_1|} + e^{|\lambda_2|} + \dots + e^{|\lambda_n|} \geq 1 + e^{\frac{2E_s}{n}} + (n-2)e^{\frac{E_s}{n}} \tag{17}$$

with equality holding if and only if $|\lambda_1| = \frac{2E_s}{n}, |\lambda_2| = |\lambda_3| = \dots = |\lambda_{n-1}| = \frac{E_s}{n}, |\lambda_n| = 0$.

Proof We have the Seidel eigenvalues $\lambda_1, \lambda_2, \dots, \lambda_n$ with $|\lambda_1| > 0, |\lambda_n| \geq 0$. Then, by the arithmetic-geometric mean inequality, we get

$$\begin{aligned} e^{|\lambda_1|} + e^{|\lambda_2|} + \dots + e^{|\lambda_n|} &\geq e^{|\lambda_1|} + e^{|\lambda_n|} + (n-2) \left(\prod_{i=2}^{n-1} e^{|\lambda_i|} \right)^{\frac{1}{n-2}} \\ &= e^{|\lambda_1|} + e^{|\lambda_n|} + (n-2) \left(e^{E_s - |\lambda_1| - |\lambda_n|} \right)^{\frac{1}{n-2}} \end{aligned} \tag{18}$$

as $E_s = \sum_{i=1}^n |\lambda_i|$. Now, we consider the function

$$f(x, y) = e^x + e^y + (n-2)e^{\frac{E_s - x - y}{n-2}}, \quad \text{for } x > 0, y \geq 0.$$

We have

$$\begin{aligned} \frac{\partial f}{\partial x} = f_x &= e^x - e^{\frac{E_s - x - y}{n-2}}, & \frac{\partial f}{\partial y} = f_y &= e^y - e^{\frac{E_s - x - y}{n-2}} \\ f_{xx} &= e^x + \frac{1}{n-2} e^{\frac{E_s - x - y}{n-2}}, & f_{yy} &= e^y + \frac{1}{n-2} e^{\frac{E_s - x - y}{n-2}} \\ f_{xy} = f_{yx} &= \frac{1}{n-2} e^{\frac{E_s - x - y}{n-2}}. \end{aligned}$$

To find the minimum of the function of $f(x, y)$, we get

$$f_x = f_y = 0 \implies (n-1)x + y = E_s, \quad x + (n-1)y = E_s \implies x + y = \frac{2E_s}{n}. \tag{19}$$

For $x + y = \frac{2E_s}{n}$, we have $f_{xx} > 0$ and

$$\begin{aligned} f_{xx}f_{yy} - f_{xy}^2 &= \left(e^x + \frac{1}{n-2} e^{\frac{E_s - x - y}{n-2}} \right) \left(e^y + \frac{1}{n-2} e^{\frac{E_s - x - y}{n-2}} \right) - \left(\frac{1}{n-2} e^{\frac{E_s - x - y}{n-2}} \right)^2 \\ &= e^{x+y} + \frac{1}{n-2} e^{\frac{E_s - x - y}{n-2}} (e^x + e^y) = e^{\frac{2E_s}{n}} + \frac{1}{n-2} e^{\frac{E_s}{n}} \left(e^x + e^{\frac{2E_s}{n} - x} \right) > 0. \end{aligned}$$

From the above, we conclude that $f(x, y)$ has a minimum value at $x + y = \frac{2E_s}{n}$ and the minimum value is $e^y + e^{\frac{2E_s}{n}-y} + (n-2)e^{\frac{E_s-\frac{2E_s}{n}}{n-2}}$. Now we can see easily that $g(y) = e^y + e^{\frac{2E_s}{n}-y} + (n-2)e^{\frac{E_s}{n}}$ is an increasing function for $y \geq 0$. Thus

$$e^{|\lambda_n|} + e^{\frac{2E_s}{n}-|\lambda_n|} + (n-2)e^{\frac{E_s}{n}} \geq e^0 + e^{\frac{2E_s}{n}-0} + (n-2)e^{\frac{E_s}{n}} = 1 + e^{\frac{2E_s}{n}} + (n-2)e^{\frac{E_s}{n}}.$$

Hence we get the required result in (17).

Now suppose that equality holds in (17). Then all inequalities in the above argument must be equalities. From equality in (18) and $E_s = \sum_{i=1}^n |\lambda_i|$, we get $|\lambda_2| = |\lambda_3| = \dots = |\lambda_{n-1}| = \frac{E_s}{n}$ as $|\lambda_1| + |\lambda_n| = \frac{2E_s}{n}$. Thus, $|\lambda_1| = \frac{2E_s}{n}, |\lambda_2| = |\lambda_3| = \dots = |\lambda_{n-1}| = \frac{E_s}{n}, |\lambda_n| = 0$.

Conversely, one can easily see that equality holds in (17) for a Seidel matrix of graph by $|\lambda_1| = \frac{2E_s}{n}, |\lambda_2| = |\lambda_3| = \dots = |\lambda_{n-1}| = \frac{E_s}{n}, |\lambda_n| = 0$. □

4 Conclusion

In this paper, we investigate the Seidel matrix and Seidel eigenvalues. Moreover, we defined the Seidel-Estrada index and Seidel energy, and computed the upper and lower bounds for the Seidel-Estrada index. We obtained a relation between the Seidel-Estrada index and the Seidel energy of a graph G , and we proved several theorems on the Seidel-Estrada index. The reader can use these results to calculate the Seidel energy and the Seidel-Estrada index.

Competing interests

The authors declare that they have no conflict of interest.

Authors' contributions

All authors contributed equally in drafting this manuscript and giving the main proofs. All authors read and approved the final manuscript.

Author details

¹Department of Mathematics, Faculty of Mathematical Sciences, Tarbiat Modares University, P.O. Box 14115-137, Tehran, Iran. ²Department of Mathematics, Sungkyunkwan University, Suwon, 440-746, Republic of Korea.

Acknowledgements

The authors would like to thank both of the referees for valuable comments on our paper, which have considerably improved the presentation of this paper. Partial support by the Center of Excellence of Algebraic Hyper-structures and its Applications of Tarbiat Modares University (CEAHA) is gratefully acknowledged by the second author (AI).

Received: 6 November 2015 Accepted: 4 April 2016 Published online: 14 April 2016

References

- Iranmanesh, A, Askari-Farsangi, J: Upper and lower bounds for the power of eigenvalues in Seidel matrix. *J. Appl. Math. Inform.* **33**, 627-633 (2015)
- Cvetković, D, Doob, M, Sachs, H: *Spectra of Graphs - Theory and Application*, 3rd edn. Johann Ambrosius Barth Verlag, Heidelberg (1996)
- Estrada, E: Characterization of 3D molecular structure. *Chem. Phys. Lett.* **319**, 713-718 (2000)
- Estrada, E: Characterization of the folding degree of proteins. *Bioinformatics* **18**, 697-704 (2002)
- Estrada, E, Rodríguez Velazquez, JA, Randić, M: Atomic branching in molecules. *Int. J. Quant. Chem.* **106**, 823-832 (2006)
- de la Peña, JA, Gutman, I, Rada, J: Estimating the Estrada index. *Linear Algebra Appl.* **427**, 70-76 (2007)
- Chen, X, Hou, Y: Some results on Laplacian Estrada index of graphs. *MATCH Commun. Math. Comput. Chem.* **73**, 149-162 (2015)
- Das, KC, Lee, SG: On the Estrada index conjecture. *Linear Algebra Appl.* **431**, 1351-1359 (2009)
- Du, Z, Liu, Z: On the Estrada and Laplacian Estrada indices of graphs. *Linear Algebra Appl.* **435**, 2065-2076 (2011)
- Güngör, AD, Bozkurt, SB: On the distance Estrada index of graphs. *Hacet. J. Math. Stat.* **38**, 277-283 (2009)
- Khosravanirad, A: A lower bound for Laplacian Estrada index of a graph. *MATCH Commun. Math. Comput. Chem.* **70**, 175-180 (2013)
- Robbiano, M, Jiménez, R, Medina, L: The energy and an approximation to Estrada index of some trees. *MATCH Commun. Math. Comput. Chem.* **61**, 369-382 (2009)
- Zhu, B: On the Laplacian Estrada index of graphs. *MATCH Commun. Math. Comput. Chem.* **66**, 769-776 (2011)

14. Ayyaswamy, SK, Balachandran, S, Venkatakrishnan, YB, Gutman, I: Signless Laplacian Estrada index. *MATCH Commun. Math. Comput. Chem.* **66**, 785-794 (2011)
15. Gutman, I, Deng, H, Radenkovic, S: The Estrada index: an updated survey. In: Cvetkovic, D, Gutman, I (eds.) *Selected Topics on Application of Graph Spectra*. Math. Inst., Belgrad (2011)
16. Schur, I: Über eine Klasse von Mittelbildungen mit Anwendungen auf die Determinantentheorie. *Sitzungsber. Berliner Math. Ges.* **22**, 9-20 (1923)

Submit your manuscript to a SpringerOpen[®] journal and benefit from:

- ▶ Convenient online submission
- ▶ Rigorous peer review
- ▶ Immediate publication on acceptance
- ▶ Open access: articles freely available online
- ▶ High visibility within the field
- ▶ Retaining the copyright to your article

Submit your next manuscript at ▶ springeropen.com
